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Name: ______________________________________Date:_________________________________Period:______
Directions:  PLEASE READ CAREFULLY!!!  Complete #1-16 all.  Only the even questions will be graded. An answer key for the odd problems are attached at the end for extra practice.  For #1-8, the directions say to use long division, but choose which method you would like for #1-8 only.  In #9-16 use synthetic division.  All answers may have a remainder.  Remember to replace any missing terms with a “0”.
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11) (b* +4b* —6b+2) +

b-1) 12) (vV* — 1202 +30v+6) + (v—8)

13) (24 - 152* — 42 - 88) = (x - 10) 14) (n* +50° + 30 +12) = (n +5)

15) (-3a* +a* — 474> - 21+ 37a) = (a +6) 16) (4k* + 32k° — 45k* — 87k — 64) = (k +9)
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Divide using Long Division.

1) (¢ +3x - 28x—62) + (x +6) 2) (@’ —4a* +5a-55)+(a-5)

3) (K + 16k + 61k + 3) = (k + 10) 4) (p*+15p* +58p+71) = (p+10)
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5) (x* = 2% = 5247 + 36x - 28) = (x— 8) 6) (~4n* =24 +n* —9n) + (2 +n)

7) (r* +120° + 257> + 487 — 18) + (r+ 10) 8) (m* —8m* +8m—69) + (m—8)
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Divide using Synthetic Division.
9) (9% =73x% +71x—10) + (x=7) 10) (6n® +47n* +2n+72) = (n +8)




